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A) ToTeiKcbizaanabipFeie Kacuerti: C d4e- — C
©arepicTi Xy3ere achlp.
CO—C+cCcuo->

J
CO:z

0 4
b) ToTbiKThipfbin KacueTi: C +4e- — C

C+ ?=> CHa

B) bencengi metangapmeH Hemece onapAablH OKCHATEPIMEH
apekeTTecin, kKapbuarep Tyzeai.

Ca+C —

Ca0D +C —



«Xumurmep s

«A» aeHrewui

bearicia 3avTel aHbiKran, TOmeHgeri ToTbify-ToThiKChI34aHy
peakuMAcbiH TeHecTipiHIa:

CO+Mg >MgO+?
«B» aeHremi

C »CO »CO2 »Na2003 »CaC03 »Cadl2
«C» peHreui

MaccansiK Yaeci H-2,1%,(-12,14%,0-48,23% KocbinbicTbiH
dpopmynacbiH TabbiHbi3?
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